ASVIN

B —

Repucer HL SERIES

INGENUITY CASTING PRECISION
HELIcAL PRODUCTS

; s

Tel: +33(0)161086219 - Fax:+33(0)134839738 - www.a2vfr - a2v@a2v.fr




CONTENTS

Low noise High input speed
||||||| (e
Below 65db. Up to 5000 RPM
Low Backlash High torque
\ K
@# One stage within 3 armin, I-Ill Higher than conventional planetary
Two stage with 5 arcmin gearbox
High stability

High efficiency

Ib Using high-strength steel aloy metal
Not just hardening on gear surface, but
hardening entire gear ot insure the gear
life time and maintain high accuracy.

|/|i||/| One stage is exceed 97%,
Two stage is exceed 95%

PRODUCT APPLICATION

Aerospace, military industries, medical health care, electronic information technology industry, industrial
robot, production automation, CNC machine tool manufacturing industry, motor, textile, food, metallurgical,
environmental protection engineering, warehouse and logistics industry.



Stage Ratio Nominal

Torque

\\[3}

Max

Speed

Nominal

RPM

Max

Radial

Max force

N

TECHNICAL DATA

AVAE]

Backlash

Arcmin

Efficiency

%

Weight

Kg

3 35 70 3000 6000 920 630 3 97 1,1
4 45 90 3000 6000 920 630 3 97 11
1 5 44 88 3000 6000 920 630 3 97 11
7 40 80 3000 6000 920 630 3 97 11
10 22 44 3000 6000 920 630 3 97 11
15 35 70 3000 6000 920 630 5 97 16
16 45 90 3000 6000 920 630 5 97 16
20 45 90 3000 6000 920 B30 5 97 16
25 44 88 3000 6000 920 630 5 97 16
28 45 a0 3000 6000 920 630 5 97 16
2 30 35 70 3000 6000 920 630 5 97 16
35 44 88 3000 6000 920 B30 5 97 16
40 45 90 3000 6000 920 B30 5 97 16
50 44 88 3000 6000 920 630 5 97 16
70 40 80 3000 6000 920 630 5 97 16
100 22 44 3000 6000 920 630 5 97 16
3 100 200 3000 6000 1400 600 3 97 3
4 110 220 3000 6000 1400 600 3 97 3
1 5 105 210 3000 6000 1400 600 3 97 3
7 100 200 3000 6000 1400 600 3 97 3
10 50 100 3000 6000 1400 600 3 97 3
15 100 200 3000 6000 1400 600 5 97 4.3
o 16 110 220 3000 6000 1400 600 5 97 43
o 20 110 220 3000 6000 1400 800 5 97 43
S 25 105 210 3000 6000 1400 600 5 97 43
I 28 110 220 3000 6000 1400 600 5 97 4.3
2 30 100 200 3000 6000 1400 600 5 97 43
35 105 210 3000 6000 1400 600 5 97 43
40 110 220 3000 6000 1400 600 5 97 4.3
50 105 210 3000 6000 1400 800 5 97 4.3
70 100 200 3000 6000 1400 600 5 97 4.3
100 50 100 3000 6000 1400 600 5 97 43
3 230 4860 3000 6000 3000 2500 3 97 6.8
4 270 540 3000 6000 3000 2500 3 97 6.8
1 5 255 510 3000 6000 3000 2500 3 97 6.8
7 180 360 3000 6000 3000 2500 3 97 68
10 120 240 3000 6000 3000 2500 3 97 6.8
15 230 480 3000 6000 3000 2500 5 97 10
o 16 270 540 3000 6000 3000 2500 5 97 10
QY 20 270 540 3000 6000 3000 2500 5 97 10
N 25 255 510 3000 6000 3000 2500 5 97 10
I o8 270 540 3000 6000 3000 2500 5 97 10
2 30 230 480 3000 6000 3000 2500 5 97 10
35 255 510 3000 6000 3000 2500 5 97 10
40 270 540 3000 6000 3000 2500 5 97 10
50 255 510 3000 6000 3000 2500 5 97 10
70 180 360 3000 6000 3000 2500 5 97 10
100 120 240 3000 6000 3000 2500 5 97 10
3 450 900 2000 4000 5800 4500 3 95 17
4 580 1160 2000 4000 5800 4500 3 95 17
1 5 540 1080 2000 4000 5800 4500 3 95 17
7 390 780 2000 4000 5800 4500 3 95 17
10 230 4860 2000 4000 5800 4500 3 95 17
15 450 900 2000 4000 5800 4500 5 95 24
Ty) 16 580 1180 2000 4000 5800 4500 5 95 24
"2 20 580 1160 2000 4000 5800 4500 5 95 24
E' 25 540 1080 2000 4000 5800 4500 5 95 24
28 580 1160 2000 4000 5800 4500 5 95 24
2 30 450 900 2000 4000 5800 4500 5 95 24
35 540 1080 2000 4000 5800 4500 5 95 24
40 580 1160 2000 4000 5800 4500 5 95 24
50 540 1080 2000 4000 5800 4500 5 95 24
70 390 780 2000 4000 5800 4500 5 95 24
100 230 480 2000 4000 5800 4500 5 95 24




TECHNICAL DATA

Backlash

Torque Speed Max force

Nominal Max Nominal Max Radial JAVAE]
Nm RPM [\

Efficiency = Weight

Arcmin % Kg

3 1000 3000 9500 6800 3 95 31,5

4 1300 2600 1500 3000 9500 6800 3 95 31,5

1 5 1100 2200 1500 3000 9500 6800 3 95 31,5
7 800 1600 1500 3000 9500 6800 3 95 31,5

10 460 920 1500 3000 9500 6800 3 95 31,5

15 1000 2000 1500 3000 9500 6800 5 95 37,5

16 1300 2600 1500 3000 9500 6800 5 95 37.5

20 1300 2600 1500 3000 9500 6800 5 985 37,5

25 1100 2200 1500 3000 9500 6800 5 95 37,5

28 1300 2600 1500 3000 9500 6800 5 95 37.5

2 30 1000 2000 1500 3000 9500 6800 5 95 37.5
35 1100 2200 1500 3000 9500 6800 5 95 37,5

40 1300 2600 1500 3000 9500 6800 5 95 37,5

50 1100 2200 1500 3000 9500 6800 3] 95 37.5

70 800 1600 1500 3000 9500 6800 5 95 37.5

100 460 920 1500 3000 9500 6800 5 95 37,5




DRAWINGS

C8
36
65 . | 4-MSX10 @62
— 28 T T j
| S
o 25 o PO .
N .
- A gl TTTATES
o~ = -—- — 4 — = q A - =51
T g Si] R I B 1y
M5X10 | L 1
- L] t
1 1
— ] CE
[
c8
65 . 4-M5X10 262
o ] 28 _ ; T ' :
] e
(@) { I i
N 23 ~-Ez=3
9 i o ‘gj oY - A i Lﬁﬂg BLTG
{ta] . —
Y P58 sit— I8 T Eaas ;
M5X10 / i RS s /
1 ; L 1 ;
1
1 — Tl C6
L 7 N c4

Stage
247,14 4-M4 28 30 238,1 5 65 112
HLO70-L1 246 4-M4 28 30 230 5 65 112
(Single) 245 4-M3 8 30 230 5 65 112
270 4-M4 /4-M5 214 33 250 5 65 115
24714 4-M4 28 30 238,1 5 65 136
HLO70-L2 246 4-M4 28 30 230 5 65 136
(Double) 245 4-M3 8 30 230 5 65 136
270 4-M4 /4-M5 214 33 250 5 65 139




8
8'5 -— " -
- I
()] I
&5 |33 _
()]
f’ ‘g ol ol | = | ~ ~
1 €& 8 =12 ﬁg
“ b= 91 : I S U
M8X 16,/
! -
111
| c6
c4 .
~ c8 -
85 _ |,
€2 c1 36
Y i
i T i
QU 33 .
-
&) el ol o |« =) [
(0] I R T L/ ENE B g m| R
(@) & sy / ur o
| 7
L M8X16 /
1 L 1
3 - 1
Ll cs
L ocy . c4

Stage
2984 | 4MB/4M5 | 214/019 50 273 6 90 148
HLOSOLY 290 4M5,/4-MB 219 50 270 6 90 148
S 2115 48 219,022 62 295 8 110 160
(Sing 2130 4M8 219,/022 B2 295 8 110 160
2145 4M8  |019/002/024] 655 2110 14 130 1635
%70 4M4/4-M5 214 38,5 250 5 65 175
2984 | 4MB/4M5 | 214/219 50 273 6 30 184
HLO90-L2 290 4M5,/4-MB 219 50 270 B 90 184
(Double) 2115 4M8 219,/022 B2 295 8 110 196
2130 4M8 219,022 62 295 8 110 196
2145 4M8 219,/022 65,5 2110 14 130 1995




DRAWINGS

HL120-L1

HL120-L2

Stage

HL120-L1
(Single)

HL120-L2
(Double)

C8

115
120

-]

70
10.5
.50 _
ol  Gf o
S o /oS
a ey / 9
M12X25/
105 _ |
58 —
.50 _
}g (=1 "5
o —— e
a i allls
M12X25/
L1l

®120

C5G7

-

-

2115 4MB/4MB [019/022/224] 62,5 295 8 130 194
2130 4M8  [019/022/024] 625 295 8 130 194
2145 4MB8  [019/022/024] 655 2110 8 130 197
290 4-M5/4-M6 219 57,5 270 B 130 2305
2115 4MB/4MB [019/022/224| 62,5 295 8 130 2355
2130 4MB8  [019/022/024] 625 295 8 130 2355
2145 4M8  [019/022/024] 655 2110 8 130 2385




C8
37 4-M10X20
135 . . /
]
-
— | 82 || m
5 " -
1 70 el
< o @l wy o |l
= ) -{— 2 -
T a3 3 ) sl || !
A3 t + | Tﬁ
M16X35/ :
1 1 -
1
1. cé
S
- c8 -
le 97 -
o 135 | l
10 f g2 || = i
< — et 42
- g-, LQ_\‘ w o n ! ~4 ~
T 3§ V== Hal-——-2 =+ 1 il gy
I~ e ® ’jf;”.’:.*%J b
M16X35/ S
L ] L 4
} =
Tl ¢cs
C7 e G4

Stage

2115 4-M8/4-MB 222/ 224 67,5 295 8 115 249

2145 4-M8 222 /224 72,5 2110 8 130 254

H{"g]fjé}" 2200 4-M12  [035/038/042] 825 2114,3 8 180 264
2200 4-M12 235/ 242 117 2114,3 8 180 296,5

2215 4-M12 238/ 242 87,5 2180 8 200 269
HL155-L2 2115 4-M8/4-M6 222/224 67,5 295 6 115 3115
(Double) 2145 4-M8 o222/ 224 72,5 2110 8 130 316,5
2200 4-M12 235 82,5 2114,3 8 180 326,5




DRAWINGS

- 8 -
- 100  _
165 4-M12X24
i
—
! .82 |
o)
o 75
S o 'Dl " o
T g v ol &8 &
N 9' / © =
M20X40,
1
R
- c8 -
L 100
165 _ .
cu T
— i — 1|
0 82 '
8 ‘ e 75 .
— w! Ie: e I S0l I
i S g = = L] E
3‘ 8 21 TE &I TR ~
o s ! '_J:,_,‘F_ﬁ
IM20X40/
" =
. C6

Stage
5200 4M12  |035/038/042] 825 21143 8 180 286,5
HL205-L1 2200 4M12 035,/042 17 2114,3 8 180 319
(Single] 2215 4m12 238,042 87,5 2180 8 200 291,5
2115 | 4M8/4-MB | ¢22/024 67,5 295 8 115 3345
2145 4M8 022/024 725 2110 8 130 3395
HL205-L2
it 2200 4M12  [035/038/042] 825 21143 6 180 3495
2200 a4mM12 235,042 117 21143 8 180 382
5215 FEVIE 238/ 042 875 2180 8 200 354.5




TECHNICAL

Torque Speed Max force Backlash Efficiency = Weight
Stage Ratio Nominal Nominal Max Radial Axial
RPM [\ Arcmin

2 g3
o Q

HLEOS0 |HLEO70
WO WWownwwow

DRAWINGS

C8
36
65 _ | 4-MS5X10  #62
A 1 — =+ s
- 28 T T
E . 25 _ i
2
O e do =g |
I Q} - w s
T I =====" T B N RC R e e e RO
s = N L V.V
M5X10 / 1
- L4 1
! 1
— Cé6
C4
C8
46

HLEOSO-L1

@20

IC3G7
C5G7

Stage
HLE.07DL1 270 4-M4/4-MS 214 33 250 5 65 115
(Single)
90 4-M5/4-M6 19 50 70 6 90 148
HLEogo-L1 [ / ° °
(Single) 2145 4-M8 219/022/ 224 655 2110 14 130 163.5




TECHNICAL DATA

Torque Speed Max force Backlash Efficiency = Weight
Stage Ratio Nominal Nominal Radial Axial
RPM N Arcmin

B
3
3
3
3
5
2 5
o 5
N 5
—
: :
5
5
5
5
5
3 ,
3 ,
1 5 105 210 3000 6000 1400 800 3 95 5.6
7 100 200 3000 6000 1400 800 3 95 5,6
10 50 100 3000 6000 1400 600 3 95 5.6
o 15 100 500 3000 6000 1400 600 5 g5 6.6
* 16 110 2920 3000 6000 1400 800 5 g5 6.6
o 20 110 220 3000 6000 1400 600 5 95 6.6
N o5 105 210 3000 6000 1400 600 5 95 6.6
= o8 110 220 3000 6000 1400 600 5 95 6.6
I 2 30 100 200 3000 6000 1400 800 5 g5 B.6
35 105 210 3000 6000 1400 600 5 95 6.6
40 110 220 3000 6000 1400 600 5 95 6.6
50 105 210 3000 6000 1400 600 5 95 6.6
70 100 200 3000 6000 1400 600 5 95 6.6
100 50 100 3000 6000 1400 600 5 95 6.6
g 530 460 3000 6000 3000 2500 3 93 11
4 570 540 3000 6000 3000 2500 5 a3 11
1 5 055 510 3000 6000 3000 2500 3 93 11
7 180 360 3000 6000 3000 2500 5 93 11
10 120 240 3000 6000 3000 2500 3 93 11
o 15 530 460 3000 6000 3000 5500 5 a3 14
Y 16 570 540 3000 6000 3000 2500 5 93 14
- 20 270 540 3000 6000 3000 2500 5 93 14
N o5 055 210 3000 6000 3000 2500 5 93 14
= o8 270 540 3000 6000 3000 2500 5 a3 14
I 2 30 230 460 3000 6000 3000 2500 5 93 14
35 055 510 3000 6000 3000 2500 5 a3 14
40 270 540 3000 6000 3000 2500 5 a3 14
50 055 510 3000 6000 3000 2500 5 a3 14
70 180 360 3000 6000 3000 2500 5 a3 14
100 120 240 3000 6000 3000 2500 5 93 14
3 450 900 2000 4000 5800 4500 3 93 o4
4 580 1160 2000 4000 5800 4500 3 a3 o4
1 5 540 1080 2000 4000 5800 4500 3 a3 o4
7 390 780 2000 4000 5800 4500 3 a3 o4
10 230 460 2000 4000 5800 4500 3 93 24
0 15 450 800 2000 4000 5800 4500 5 a3 30
T 16 580 1160 2000 4000 5800 4500 5 93 30
- 20 580 1160 2000 4000 5800 4500 5 93 30
N o5 540 1080 2000 4000 5800 4500 5 93 30
3 o8 580 1160 2000 4000 5800 4500 5 93 30
2 30 450 900 2000 4000 5800 4500 5 93 30
35 540 1080 2000 4000 5800 4500 5 a3 30
40 580 1160 2000 4000 5800 4500 5 a3 30
50 540 1080 2000 4000 5800 4500 5 a3 30
70 390 780 2000 4000 5800 4500 5 a3 30
100 230 460 2000 4000 5800 4500 5 93 30
3 1000 5000 1500 3000 9500 6300 3 93 39
4 1300 2600 1500 3000 9500 6800 5 93 39
1 5 1100 2200 1500 3000 9500 6800 3 93 39
7 800 1600 1500 3000 9500 6800 3 93 39
10 460 920 1500 3000 9500 6300 3 93 39
0 15 1000 5000 1500 3000 9500 6800 5 93 45
o 16 1300 2600 1500 3000 9500 6800 5 a3 45
Y 20 1300 2600 1500 3000 9500 6800 5 93 45
N o5 1100 2000 1500 3000 9500 6800 5 a3 45
T o8 1300 2600 1500 3000 9500 6800 5 a3 45
2 30 1000 2000 1500 3000 9500 6800 5 93 45
35 1100 2000 1500 3000 9500 6800 5 93 45
40 1300 2600 1500 3000 9500 6800 5 93 45
50 1100 2000 1500 3000 9500 6800 5 93 45
70 800 1600 1500 3000 9500 6800 5 93 45
100 460 920 1500 3000 9500 6800 5 93 45

0
Q)
(@]
(9]
SN
SN



DRAWINGS

. 1315 .
36
65 . |
f 28 _ ;
i |
= 25
! : |
O @O - v
o :
S 58 S HEE -
@) ' - |
MSX10
N * |
L 1 ! ‘
—_— ‘
J v '
ry ! " J
3 <N !
*T i |
CBI C3G7
€5G7
1555
65, |, 4-M5X10 @62
i I i
28 o T -
ad I
- |25 _
N s el
o o i - Yy
S KRS =15l 1 t
i M5X10 /
ac 1 L
1 ' =)
o o
[ )
o T e
j _IL:;L Aol L
1 ; 1
81 €367
€567

Stage
HL'Z.O s 270 4-M4/4-M5 214 32 250 5 B5 71,5
(Single)
HL-Z070-L2
7 4-M4/ AM- 014 2 o 71
(Double) ZE /AM-5 o 3 250 5 B5 5

Page 12



DRAWINGS

HL-Z0S0-L1

ql|
-
0
o))
5
N
—
T

Page 13

1685 -
a6
8s _ .
36 T T ]
‘ 33
o i
g & 2IE1E (2
5 ¥ /] }
M8X16 /
L1 L 1
i H i
-+-4
r
ot Lo
v L | T
[ LN
LA SR T
1
co 367
C5G7
- 2045 -
[~ 46 -—
85
L35 _ [T T
; -
g w = o
R == skiik g g
M8X16/
1
i
T T
E} I'.‘l ¥ :_"'I
1
cé 367
C5G7

c8

4-M6X12 #80

A-MBX12 @80

Stage

0984 | 4MB/AM5 | 214/ 219 42 %73 B 90 915

290 4-M5,/4-MB 219 42 270 E 90 915
HL-Z030-L1 ey 48 219/022 54 095 8 110 1035
(Single] 2130 4m8 219/022 54 295 8 110 1035
2145 4M8 219,222 575 2110 8 130 107

0984 | 4MB/4M5 | 014/219 a2 273 B 30 915

T 290 4M5,/4-MB 219 42 %70 6 90 915
(Double] 2115 48 219,022 54 295 8 110 103,5
2130 48 219,022 54 295 8 110 1035

2145 48 219,022 575 2110 8 130 107




DRAWINGS

. 2155 _
10.5 e 4-MEX16 9108
.58 | M ‘
- L S0
&) rs) i i
Q g 5 —=tiEia 18
< N %T' f o ||le =
E M12x25/
T ||
Ly
I}
T
[
vl
T i 1
) le7)
N C5G7 _
257
.70,
105 _ |, AMBX16 9108
L 58 | 7 7 '
S - IBm
= | be i
aJ ol o o |l o !
; LY p N Wiy £ I i
N I ! %i 'g] 1 s[5 Y |
- ' M12x25/ |
T i I
L alt 1] ' ! o
i ‘__' T L -
TR
= Fogm g i
3 T1F |
1 ] [
' — :
6 Gl
C5G7

Stage

HL-Z155-L1
(Single)

HL-Z155-L2
(Double)

2115 4-M8/4-MB 222 /224 57 295 8 130 118
2130 4-M8 222/ 224 57 295 8 130 119
2145 4-M8 222/224 60 2110 8 130 122
2115 4-M8/4-MB 222 /224 57 295 6 130 118
2130 4-M8 222 /224 87 295 8 130 119
2145 4-M8 222/224 60 2110 8 130 122

Page 14




DRAWINGS

HL-Z155-L1

HLZ-155-L2

Page 15

Stage

HL-Z155-L1
(Single)

HL-Z155-L2
(Double)

-

{ 82
70 _
‘§. ok w =1
g g a1a 1
-g 1 / L) =
M16X35/
1
H o0
+ L |
W OR
Sl
f : !
€367 Chi
L csa7 |
3435
.97, 4-M10X20
135, |
]
f L 82 |
of o — 10— !
[=1 B wy o
S g] =1 B 1
I 8 9 !
M16%35/ !
1 !
: f : ; 15
—— 3
“."i“‘." 1]
367 6

2115 4-M8/4-MB 222,/ 224 67,5 295 8 115 144
2145 4-M8 222/ 224 72,5 2110 8 130 149
2200 4-M12 235/ 242 82,5 2114,3 8 180 189
2200 4-M12 235/ 242 117 2114.,3 8 180 1815
2215 4-M12 242 87,5 2180 8 200 164
2115 4-M8/4-MB 222/ 224 67,5 295 6 115 144
2145 4-M8 222 /224 72,5 2110 8 130 149
2200 4-M12 235/ 242 82,5 2114,3 8 180 189
2200 4-M12 235/ 242 117 2114,3 8 180 191.,5




DRAWINGS

HL-Z205-L1

HL-Z205-L2

Stage

HL-Z205-L1
(Single)

HL-Z205-L2
(Double)

304 .
100
165,
}
f L 82 I
l._ 15 _
) .‘-E,' w g
gl 4a /21 s &
— S' / = L2
5 j
M20X40/
€367
L C5G7
366.5
. 100

4M12 235,042 82,5 2114,3 8 180 159
2200 4M12 235,042 117 2114,3 8 180 1915
2215 4M12 242 87,5 2180 8 200 184
2115 4MB/4MB | 222/024 87,5 295 6 115 144
2145 4-M8 222 /024 72,5 2110 8 130 149
2200 4-M12 235,042 82,5 2114,3 8 180 159
2200 4-M12 235,042 17 2114,3 8 180 1915
2215 4-M12 242 87,5 2180 8 200 164

Page 16




Mo-

Stage Ratio
type

Torque
Nominal

Speed

Nominal

RPM

Max

Max force

Radial

[\

AVAE]

Backlash

Arcmin

Efficiency

TECHNICAL DATA

Weight

Kg
3 1.2
3 1.2
3 1.2
< 3] 1.2
© g 1;
D 3
T 5) 1,7
) 5 17
I B 1,7
B 1,7
50 44 88 3000 6000 550 G759 5 97 1,7
70 40 80 3000 6000 550 375 5 97 1,7
100 22 44 3000 6000 550 375 5 97 1,7
4 150 300 3000 6000 4000 3000 3 97 3,8
1 5 140 280 3000 6000 4000 3000 3 97 3.8
7 100 200 3000 6000 4000 3000 3 97 3,8
10 50 100 3000 6000 4000 3000 3 97 3.8
16 150 300 3000 6000 4000 3000 5 97 5,1
20 150 300 3000 6000 4000 3000 5 97 5,1
25 140 280 3000 6000 4000 3000 5 97 5,1
28 150 300 3000 6000 4000 3000 5 97 5.1
2 35 140 280 3000 6000 4000 3000 5 97 5,1
40 150 300 3000 6000 4000 3000 5 97 5.1
50 140 280 3000 6000 4000 3000 5 97 5.1
70 100 200 3000 6000 4000 3000 5 97 51
100 50 100 3000 6000 4000 3000 5 97 5,1
4 270 540 3000 6000 7800 7000 3 97 7
1 5 255 510 3000 6000 7800 7000 5 97 7
7 180 360 3000 6000 7800 7000 5 97 7
10 120 240 3000 6000 7800 7000 3 97 7
o 16 270 540 3000 6000 7800 7000 5 97 7
: 20 270 540 3000 6000 7800 7000 5 97 10,5
T 25 255 510 3000 6000 7800 7000 5 97 10,5
D) 28 270 540 3000 6000 7800 7000 5 97 10,5
T 2 35 255 510 3000 6000 7800 7000 5 97 10,5
40 270 540 3000 6000 7800 7000 5 97 10,5
50 255 510 3000 6000 7800 7000 5 97 10,5
70 180 360 3000 6000 7800 7000 5 97 10,5
100 120 240 3000 6000 7800 7000 B 97 10,5
4 580 1160 2000 4000 10000 8000 3 95 14,5
5 540 1080 2000 4000 10000 8000 3 95 14,5
1 7 390 780 2000 4000 10000 8000 3 95 14,5
10 230 460 2000 4000 10000 8000 3 95 14,5
o 16 580 1160 2000 4000 10000 8000 5 95 22
S 20 580 1160 2000 4000 10000 8000 5 95 22
T 25 540 1080 2000 4000 10000 8000 5 95 22
D) 28 580 1160 2000 4000 10000 8000 5 95 22
T 2 35 540 1080 2000 4000 10000 8000 5 95 22
40 580 1160 2000 4000 10000 8000 5 95 22
50 540 1080 2000 4000 10000 8000 5 95 22
70 390 780 2000 4000 10000 8000 5 95 22
100 230 460 2000 4000 10000 8000 5 95 22
4 1300 2600 1500 3000 16000 13000 3] 95 36
1 5 1100 2200 1500 3000 16000 13000 3 95 36
7 800 1600 1500 3000 16000 13000 3] 95 36
10 460 920 1500 3000 16000 13000 5 95 36
16 1300 2600 1500 3000 16000 13000 5) 95 42
20 1300 2600 1500 3000 16000 13000 5 95 42
25 1100 2200 1500 3000 16000 13000 5 95 42
28 1300 2600 1500 3000 16000 13000 5 95 42
2 B9 1100 2200 1500 3000 16000 13000 5) 95 42
40 1300 2600 1500 3000 16000 13000 5 95 42
50 1100 2200 1500 3000 16000 13000 5) 95 42
70 800 1600 1500 3000 16000 13000 5) 95 42
100 460 920 1500 3000 16000 13000 5) 95 42

Page 17




DRAWINGS

C8
19.5 4
7
l T ]
S. : 4 | . :
<
do) [
@) | ; v/
O sz 2 el o sy |
T i Oﬂggcgrr‘r E - :'J| -+ % ::gg
] _} i K J {38]
§3 SlD STrET | ®
1 ‘l{ -
I | \
1 | 1
4 Cce
1 . C4
- |&:] -
L1995, L 4
7
N e | BAHTX4
— 4 7
<t i I 1
o I
: 7
% Y B
~ P~ 1 i- ==
T 858 SHAH—18 |- 411 T3
e S|P S B Y. 1
i RS
!
| I
! 1
. AL b -} C6
c7 [

Stage
247,14 4-M4 28 30 238,1 5 65 76,5
HGHOB64-L1 246 4-M4 28 30 230 5 65 76,5
(Single) 045 4-M3 28 30 230 5 65 76,5
270 4-M4 /4-M5 214 33 250 5 65 79,5
247,14 4-M4 28 30 238,1 5 65 100,5
HGHOB64-L2 246 4-M4 28 30 230 o) 65 100,5
(Double) 045 4-M3 28 30 230 5 65 100,5
270 4-M4/4-M5 214 33 250 5 65 103,5

Page 18



DRAWINGS

_10
- ‘ 7
= i '
o i
0) i .
(@)
% ™~ r~ “—‘
oo '= o = =]
T r 388 41T 3
s 2|
1
!
" 6 -— — -
30 7
SEHTXS
- 10 ‘ #50
- A7 | /
(@) i
> '
(@) i -
T 2g & 5 | h g 25
I S g = O O
i |
'
!
6 ||, L C6

Stage

0984 | 4MB/AM5 | 214/ 219 50 %73 B 90 115,5
290 4-M5,/ 4-MB 219 50 270 E 90 1155
HGHOSO-L1 ey 48 219/022 62 095 8 110 1275
(Single] 2130 4m8 219,022 B2 295 8 110 1275

2145 AM8  |o19/002/024] 655 2110 14 130 131
70 44/ 4N5 o4 385 250 5 65 1425
0984 | 4MB/4M5 | 014/019 50 073 E 90 1515
HGHo90-L2 D) 4-M5,/4-MB 219 50 570 B 90 151,5
(Double) 2115 48 219,222 B2 295 8 110 1635
2130 48 219,022 62 295 8 110 1635

2145 AMB  |019/022/024] 655 2110 14 130 167

Page 19




DRAWINGS

HGH110-L1

HGH110-L2

Page 20

9145

Stage

HGH110-L1
(Single)

HGH110-L2
(Double)

- c8 -
29 _
d
75 _| g .
i {— f
A =
~ FJ—_ . r ~
S22 |V < | F i~
EZ g s
SRl =
i t
1 - ¥ A |
Loca |
C8
29_8
10
75 | 1
i_
P~ -
SERL 8
g g il =4 -

~1

26H7X6

2115 | 4M8/4MB [019/222/224]  B25 295 8 130 136
2130 4M8  |019/022/224] 625 295 8 130 136

2145 4M8  [019/022/024| B55 2110 8 130 139

290 4-M5/4-MB 219 57.5 270 6 130 1725
2115 | 4M8/4MB [019/222/224] 625 295 8 130 1725
2130 4M8  [019/022/024| 625 295 8 130 1725
2145 4M8  [019/022/024] 655 2110 8 130 180,5




DRAWINGS

_ c8 .
L. 38 ___10
4 P8H7X8
- s /e 1
o M= ‘
= | |
o) __' ‘
E WO | 0| N i | :]: + ~
AP DT 1 b 1 i RCRC]
@) "é- E 2 a 1T —gr 1T _T*‘__m 8‘
T 8 8 © 7 l—_:_g:j:-:Tﬁ !
, ‘ 1
1 1 H F
10 | l_ 2 r - -
12-MBX16/ /
c4 12-96.6/
} c8 -
38 10
PBHTXS
o 14= L ¢
—.' 75 . g
D T b e
q_ T
= 0 M5
5 o O B ol ¥ # .
L 13883 o N %19
sz 35¢ |0 b | = e Y
L :’;J "4.“
| | =
1001 & ~
- 2-M8X16/
L ca ] 12-M8X16 12-26.6/

Stage
2115 | 4M8/4MB | o22/224 67,5 095 8 115 161
2145 4-M8 022,/024 725 2110 8 130 166
HGH140-L1 ey 4M12  |635/038/042] 625 21143 8 180 176
(Sl 2200 4M12 035,042 117 21143 8 180 208,5
2215 4M12 038//042 87.5 2180 8 300 181
2115 | 4M8/4MB | o22/224 67,5 295 8 115 2235
HGH140-L1
(Double) 2145 4M8 022/224 72,5 2110 8 130 2285
2200 4M12 035 825 2114,3 8 180 2385

Page 21



DRAWINGS

C8
.50 .12,
15 @10H7X10
i 8 1. | M — 2125
(@] —
Q :
T B
T O[O 1 =k —3
I~ 2 o i Sl N~
o SRS 8+ R 2
s g¢ s e i bl S L S
1LY a) i
e o) =
7 - ! ! —le C6
0cy 160 L | L ca - 1
11-M10X20/ 12-¢9/
- cg -
.50 .12
_ l1s B10H7X10
Ql i 8 F] g Fa @125
B e /
= AT T
Y
IC ' [
@) w elel —IE o 3 ~
= IR 1 o — 2
< 5|5 ® _J S 9
LY 1
1
4 1 - el (6
1 16 . ca

1-M10x20/  12-09/

Stage
2200 4M12  |035/238/042] 82,5 2114,3 8 180 211
HGH200-L1 puevers am12 035, 042 117 21143 8 180 2435
(Singls] 0215 4m12 038,042 87,5 2180 8 200 216
2115 | 4M8/4MB | o22/224 675 295 8 115 259
2145 am12 202 /024 725 2110 8 130 264
HF-Z140-L.2 g 4M12  |035/038/042] 825 21143 8 180 074
[Double) 2200 a4m12 035,042 117 21143 8 180 306,5
2215 aM12 038/ 042 875 2180 8 200 279

Page 22



Mo- Torque
Stage Ratio Nominal

type

Speed

Nominal

RPM

Max force

Radial

[\

AVAE]

Backlash

Arcmin

Efficiency

TECHNICAL DATA

Weight

3 ,

3 ,

3 ,
3 03
g = 58
(=] 5 28
g 5 2,8
5 o8
o 5 28
I 5 o8
5 o8
5 o8
5 o8
3 6,1
3 6.1
3 6.1
3 B,1
5 74
20 150 300 3000 6000 4000 3000 5 95 7.4
o5 140 280 3000 6000 4000 3000 5 95 7.4
o8 150 300 3000 6000 4000 3000 5 95 7.4
2 35 140 280 3000 6000 4000 3000 5 95 7.4
40 150 300 3000 6000 4000 3000 5 95 7.4
50 140 280 3000 6000 4000 3000 5 95 7.4
70 100 200 3000 6000 4000 3000 5 95 7.4
100 50 100 3000 6000 4000 3000 5 95 7.4
4 270 540 3000 6000 7800 7000 3 95 12
1 5 255 510 3000 6000 7800 7000 E 95 12
7 180 360 3000 6000 7800 7000 3 95 12
10 120 240 3000 6000 7800 7000 3 95 12
16 570 540 3000 6000 7800 7000 5 95 15
20 270 540 3000 6000 7800 7000 5 95 15
o5 055 510 3000 6000 7800 7000 5 95 15
o8 270 540 3000 6000 7800 7000 5 95 15
2 35 255 510 3000 6000 7800 7000 5 95 15
40 270 540 3000 6000 7800 7000 5 95 15
50 255 510 3000 6000 7800 7000 5 95 15
70 180 360 3000 8000 7800 7000 5 95 15
100 120 240 3000 6000 7800 7000 5 95 15
Z 580 1160 2000 4000 10000 8000 3 93 o4
: 5 540 1120 2000 4000 10000 8000 3 93 24
7 390 780 2000 4000 10000 8000 3 a3 24
o 10 230 460 2000 4000 10000 8000 3 93 24
< 18 580 1160 5000 4000 10000 8000 5 93 30
- 20 580 1160 2000 4000 10000 8000 5 a3 30
[N o5 540 1120 2000 4000 10000 8000 5 a3 30
I o8 580 1160 2000 4000 10000 8000 5 93 30
(D] 2 35 540 1120 2000 4000 10000 8000 5 93 30
I 40 580 1180 2000 4000 10000 8000 5 93 30
50 540 1120 2000 4000 10000 8000 5 a3 30
70 390 780 2000 4000 10000 8000 5 93 30
100 230 4860 2000 4000 10000 8000 5 93 30
4 1300 2600 1500 3000 16000 13000 3 93 43
1 5 1100 2200 1500 3000 16000 13000 3 a3 43
7 800 1600 1500 3000 16000 13000 3 93 43
o 10 460 920 1500 3000 16000 13000 3 93 43
o 16 1300 2600 1500 3000 16000 13000 3 a3 49
Y 20 1300 2600 1500 3000 16000 13000 5 a3 49
N 25 1100 2200 1500 3000 16000 13000 5 a3 49
T o8 1300 2600 1500 3000 16000 13000 5 a3 49
o 2 35 1100 2200 1500 3000 16000 13000 5 a3 49
I 40 1300 2600 1500 3000 16000 13000 5 93 49
50 1100 2200 1500 3000 16000 13000 5 93 49
70 800 1600 1500 3000 16000 13000 5 93 49
100 460 920 1500 3000 16000 13000 5 93 49

Page 23




_@4HTX4

| DRAWINGS

THOZE

B Tove A
L4990
98¢

L T790Z-HIH

8-04.5/

8-M5X10,/

c8

4

| _GAHTX4

195, .

-

]

8-M5X10/

c I'790Z-H3H

0o 0
< <
[ [
0 9]
o (s}
lp] 0
o o
0 L0
Q Q
[qY] qV}
™ m
< <
< <
Q [N
0 L0
= | =
NN
< <
s | =
<t <

1
=
32
Dg
N .S
b )
(O]
I

270

270

(Double)




DRAWINGS

HGH-Z090-L1

HGH-Z0390-L2

Stage

HGH-Z090-L1
(Single)

HGH-Z090-L2
(Double)

—

A

-

c8

-—

eol 2| =l I o
™ | | ‘|
!
' 6
1 i c4 :
= = 8-M6X12 / 8-¢5.5,
30 7
10 "@SH?XS(o_SO
et 71‘" .
]
|
EEHEERL 3 ot
R ¥ &8
1
!
6 | .. . C6
C1 c2 Cc3 c4 C5 C6 c7 Cc8
298,4 4-MB/4-M5 | 214/ 219 42 273 6 90 915
290 4-M5,/4-MB 219 42 270 6 80 91.5
2115 4-M8 219/ 222 54 295 8 110 103,5
2130 4-M8 219/ 222 54 295 8 110 1035
2145 4-M8 218/ 222 57.5 2110 8 130 107
298,4 4-MB6/4-M5 | 214/219 42 273 6 90 91,5
290 4-M5/4-M6 219 42 270 6 90 91,5
2115 4-M8 219/222 54 295 8 110 103,5
2130 4-M8 218/222 54 295 8 110 103,5
2145 4-M8 219/222 57.5 2110 8 130 107

Page 25




DRAWINGS

- c8 -
.29_8__
d _¢6H7X6
b7s £ L
i e t
@)
< {
E A | _ ]
r~ ] i -

) wni o by o f I < I~
5 SEes TS 88
T s ® SL.__ g L 7L{,}_I ()

1 1
T - r— 7 = ' e
Loca 1
c8
29,8

o 710_

3 Vs 1 F

< i B

N ‘ {

T / ~ ol od TV ;

% I i 33 SRS §

! ] AR 2|k © H

~1

Stage

4M8/4MB | o22/224 8
HGH-Z110-L1 purers 4N18 222/024 57 295 8 130 119
(Singls) 2145 4M8 022 /024 80 2110 8 130 122
0115 | 4M8/4MB | 222/024 57 295 8 130 119
HGH-Z110-L2 2130 4.NI8 222 /224 57 295 8 130 118
(Double) 2145 4-M8 222/ 024 80 2110 8 130 122

Page 26



DRAWINGS

C8
38 10
14 PBHTXB

< 75, | B—
S 1 ]
N | > i= Rl
. 45 5% [l ]g [ ]88
™~ . (| S N ISR 1 S - |
& CEEER | RICH I - kvl
T / g N :
t I t
i L P
e b = 12-M8X16/ = /
C4 12-06.6/
) 8 )
38 10
ql 14 @8H7X8
5‘ 75 B i o
= | 1=
N 3
T A% %y |1 o | s
(@) i rg\ CAR=1E E T M ' a&g
= RS o= HES N
L i ?
1001 & <
—-—Lb 2-M8X16/
L c4 ] 1 8X16 12-06.6/
Stage C1 c2 C3 (874) C5 C6 Cc7 Cc8
0115 | 4-M8/4AMB| 222/024 67.5 295 8 115 144
2145 4-M8 022,/024 725 2110 8 130 149
HGH-21 ‘I‘O'L" 2200 4aM12 | 235/042 825 2114,3 8 180 159
[Singls) 2200 4M12 | 35/042 117 2114,3 8 180 1915
5215 4M8 042 27,5 2180 8 200 164
0115 | 4M8/4MB| 222/024 67.5 295 8 115 144
HGH-Z140-L2 2145 4-M8 222/ 224 72,5 2110 8 130 149
(Double) 2200 4aM12 | o35/042 825 21143 8 180 159
2200 4M12 | o35/042 117 21143 8 180 1915

Page 27



DRAWINGS

HGH-Z200-L1

HGH-Z200-L2

Page 28

Stage

HGH-Z200-L1

(Single)

HGH-Z200-L2

(Double)

c8
50 .12
15 $10H7X10
i s | _ M 2125
i T
; u
e T 2 [Pl
P~ 1 o ! 1 M~
IR HH& HR R
e|e ® 4] ! T--___{;?_.__UI U
L n{s
o/, ! 1 ]
" A 1 ! ] . C6
o160 L | L ca ] 1
11-M10X20, 12909/
- c8 -
.50 12
_ s 210H7X10
i g | _ | [ - 9125
: r _
o :
i ‘ll )
~ &S e |k o B ~
$583 1k 3
8|l s B 7z
LY 1
'
l P . ¢6
1 16 . ca - ]
11-M10X20/ 12-29/

C1 c2 C3 C4 C5 C6 Cc7 Cc8
2200 4-M12 035,/ 042 82,5 2114,3 8 180 159
2200 4-M12 235/ 042 117 2114,3 8 180 1915
2215 a4-M12 242 87,5 2180 8 200 164
2115 4-MB/AMB | 222/224 67,5 295 8 115 144
2145 4-NV8 222/ 224 72,5 2110 8 130 149
2200 a4-M12 035/ 042 82,5 2114,3 8 180 159
2200 a4M12 035/ 042 117 2114,3 8 180 1915
2215 a4M12 242 87,5 2180 8 200 164




REDUCER PART NUMBER

(/X3 090 - 20 -

000
060 6 0 600

X
g

@ Type: @ siz (060,090, 120..) © output shaft : @ Keyway:
S = Straight 0 = Plain 0=No
;‘ = HHE“CE" _ @ Ratio (03, 05,07, 10, 25, 100..) K = Hollow K = Keyway
= Aarmonic
e Angle : 6 Motor type :
O Vode!: 0 =0° Angle N23, N34, ADMB5, ARS115....
LE, LF, LS, LX ... Z =90° Angle

In accordance with our policy of continual product improvement, A2V reserves the right to amend the specification
of these products without prior notification

Parc Bel Air la Forét
6 rue Maryse Bastié
78125 GAZERAN

+33(0)1 61 08 62 19 www.a2v.fr a2v@a2v.fr




